Organic Chemistry Problem Set #8

Broblem 14.2
eithe structures of both 1,2 and 1,4 adducts resulting from reaction of 1equivalent of HC|

IE at the possible carbocation intermediates produced during addition of HCI to
Hﬁnladlene (Problem 14, 2}, and predict which 1,2 addict predominates. Which 1,4 adduct

| fiedominates?
ﬁﬁi&mm.zn Give IUPAC names for the following compounds:
(a) CHs : (b} HsC =CHCH=CHCH=CHCHg
CHzCH=CCH=CHCHq

{c) CH3CH=C=CHCH=:CHCHx (d) CHCH,CH5
: Pl I
CHaCH=CCH=CH,

ﬁﬁﬁfmm a1
yw-and name the six possible diene isomers of formula CsHg. Which of the

g“ﬁiare conjugated dienes?



